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Student Zone

Check with your Answers 
for Page No. 5

Solve this Math Puzzle?
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Events @ SRCAS
Physics - Alumni Interaction
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Writifi
You May Know

On 27.09.22, a small spacecraft DART was hit  at 22,500
kph  on a  160-metre-wide asteroid Didymos B, which was
orbiting a larger asteroid Didymos A, both were circling the
sun about 10 million km from the earth. 
Since DART’s impact, the team confirmed it's redirection
as  the asteroid's  revolution time had been reduced to 32
minutes. NASA insists there is a zero chance either
asteroid will threaten Earth in the future.
When we communicate with public that Kudankulam
Nuclear Power Plant is designed to withstand natural
hazards such as cyclone, floods, tsunamis, and
earthquakes. They query that; what will happen if a
Meteoroid or asteroid slams on the nuclear plant?
Now we got an answer for that too.

The colour of the sky depends entirely on a planet's
atmosphere.
On Mars, the atmosphere is mostly CO2 and filled with
iron-rich dust, which scatters the red light, turning the sky
into red.
As sunlight travels the longest distance during the sunrise
and sunset, the red light goes “extinct”, and all that
remains is the blue wavelength.

Boron plays a key role in the formation of RNA, one of the
building blocks for life.

Borates were important for the origin of life on Earth
because they can stabilize ribose, a crucial component of
RNA.

Knowledge Shared By, 
Mr. A.V. Sathish, 
Scientific Officer, Kudankulam &
Dr. D. Manoharan, 
Assistant Professor, Department of Physics
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Let the required number be 'N'
given that its quarter i.e; 
N/4 exceeds its double i.e, 2N by 7
=> N/4 + 7 = 2N
=> N + 28 = 8N
7N = 28
N = 4.
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